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Write down the mode

What is the median?

Otis is putting crayons into boxes.

He puts 9 crayons in each box.

How many boxes can he fill completely 
with 600 crayons?

Two glasses contain orange juice.
A 400ml glass is 40% full.
A 300ml glass is half full.

Which glass contains less orange juice?

Alex and Thomas share 300 sweets.
They divide them in the ratio 3:2.

How many sweets does Thomas have? 

There are 104 students in Year 11.
A quarter of the students in Year 10 did 
not do their homework.

90 students in Year 11 did their 
homework.

Complete the frequency tree.      �


